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Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 91 - 15 =
2,
2) 381 - 3 = 3.
4.
3 162 - 39 =
5.
4) 786 - 258 = o
7.
5 6,877 - 5 = 8.
9.
6) 3,436 - 94 =
10.
7 1,700 - 923 = 1.
12.
8 7,144 - 5,759
9 60 - 4 =
100 35 - 30 =
1) 707 - 1 =
12) 259 - 90 =
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ﬂh Subtraction (Horizontal) Name. Answer Key

Solve each problem. Answers

1 76
1) 91 - 15 = 76

> 378
2 381 - 3 = 378 3 123

4 528
3 162 - 39 = 123

5 6,872
4 786 - 258 = 528 0. 3,342

- 777
5 6,877 - 5 = 6,872 8 1,385

9 56
6) 3,436 - 94 = 3,342

10. 5
7) 1,700 - 923 = 777 1. 706

12. 169

8 7,144 - 5,759 = 1,385

9 60 - 4= 56
10) 35 - 30 = 5
1) 707 - 1 = 706
12) 259 - 90 = 169
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Subtraction (Horizontal)

Name:

Solve each problem.

Answers
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5 1,385 3,342

378 123
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35 - 30 =

10.
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